Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C310702 Date: 01 -01 -2016
Subject Name: Fundamental of Digital Electronics
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

oA W

No. Question Text and Option. Y&l s\ [Ascl.
What are the symbols used to represent digits in the binary number system?

1. A 01 B. 0172
C. 0to7 D. 172
olllot 3] oloR R HL Sle exlall HIZ2 sl Rolle ol GURL0L Rl B2
. A 01 B. 0172
C. oal7 D. 172
The output of an AND gate is LOW :
2. A. allthetime B.  whenany input is LOW
C. when any input is HIGH D. whenall inputs are HIGH
Wos A2 of AB2Ye Al 8l .
2. A auuMd B, oa1? Sl As 8etye Al 8l

C. wadlAs ety alS D a2 ol Setye sle 8l
The output of a NOT gate is HIGH when

3 A. theinput is LOW B. theinputis HIGH
" C. theinput changes from LOWto D. voltage is removed from the gate
HIGH
AR oll2 A2 of WIB2 Y2 &lef slal R
3. A Seye A B ¢otye sles 8lat
C. AQellale i oed D. Qe g9 R3lal §\H the 2
Give the decimal value of binary 101001.
4. A 4lyp B. 1440
C. 4210 D. 8110
oll2Aat2l oledR (101001)2 of SHUEA HL 3ULAR 5.
¥. A. 411() B. 1410
C. 4210 D. 8110
How many unique symbols are used in the decimal number system?
5 A One B. Nine
C. Ten D.  Unlimited
31t ololR AlreH ML Slee elall MR sall Rl oll GUAL Al §2
. A One B. Nine
C. Ten D.  Unlimited

6.  The hexadecimal digits are 1 to 0 and A to
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10.

10.

11.

.

12.

.

13.

3.

A E B. F

C. G D. D

dssdlHc Sl 1 el o ua A &l

A E B. F

C. G D. D

What is the Boolean expression for a three-input AND gate?

A, X=A+B+C B. X=AB.C

C. A-B-C D. A$BS$C

gl Sotye oS A2 of wlAuet WsAYAat 9 B?

A, X=A+B+C B. X=AB.C

C. A-B-C D. A$BS$C

Binary coded decimal (BCD) numbers express each digit as a

A Byte B.  Nibble

C. Ascl D. BCD

BCD alol? ol g2llall 520 Sle GuAoL 1L Acl B.

A Byte B.  Nibble

C. Ascl D. BCD

Convert the binary number (110101001) to octal.

A. 551 B. 651

C. 652 D. 650

wl2dol3] olelR (110101001) of HSSEA ML 3UlcAR $A.

A. 551 B. 651

C. 652 D. 650

The decimal number 25 can be represented in BCD code as

A. 00100101 B. 00100110

C. 00100001 D. 01010010

S HA ol012 25 oA BCD 815 ML 3cll la 29 531 astat,

A. 00100101 B. 00100110

C. 00100001 D. 01010010

Encoding decimal number 562 to excess-3 code

A. 10001001 1100 B. 1000 1001 0101

C. 011101101010 D. 10001001 1010

SAUA iR 562 A excess-3 515 HL AoHlS1oL 3.

A. 10001001 1100 B. 1000 1001 0101

C. 011101101010 D. 1000 1001 1010
In a 4-variable karnaugh map eight adjacent cells give a.

A. Two variable term B.  Single variable term

C. Three variable term D. Four variable term

4-variable k-RU Hi 316 611 otl At 9 URRUH M.

A Two variable 23 B. single variable 2

C. Three variable 23 D. Four variable 23

A karnaugh map with four variable has

A 2 B. 4

C. 8 D. 16

¥ —ARAGE clow k-AU HL Sl

A 2 B. 4

C. 8 D. 16
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14.

.

15.

.

16.

6.

17.

9.

18.

.

19.

20.

0.

21.

1.

22.

Which of the following binary numbers equivalent to decimal 10.

A. 1010 B. 1011
C. 0101 D. 1001
(1A WA cll2Aet3] A AMLot SAUA l6R 50 B 2
A. 1010 B. 1011
C. 0101 D. 1001
Which is typically the longest:
A. Bit B. Byte
C. Nibble D. word
el Al ctiog 9 2
A. Bit B. Byte
C. Nibble D. word
The word “Demultiplex” means.
A.  Many B. None
C. One D. One into Many
“HedlwAarR” ued 92
Ayl B. Asunl «dl
C. As D. Qs well uaw
Convert octal number 345 to decimal is
A. 229 B. 228
C. 329 D. 328
U5 d61R 345 of SAULHA ML 3UlAR 53
A 229 B. 228
C. 329 D. 328
Which of the following 4 bit combination are invalid in the BCD code?
A. 0010 B. 1010
C. 0101 D. 1000
o{lAell Higl 53] 4-0{le 516N BCD 515 HI2 wHIoAU B?
A. 0010 B. 1010
C. 0101 D. 1000
Convert decimal number (3875) to hexadecimal.
A.  F23 B. F24
C. F22 D. B23
S HA ol012 (3875) Al AU LHA HL 3UlAR 53
A, F23 B. F24
C. F22 D. B23
Binary addition: 101011+110110.
A. 1100001 B. 1100011
C. 1100110 D. 1110001
w23 ARl : 101011+110110.
A. 1100001 B. 1100011
C. 1100110 D. 1110001
Binary subtraction: 1101011-11010.
A. 1010011 B. 1010001
C. 1100110 D. 1010011
w23 algatsl : 1101011-11010.
A 1010011 B. 1010001
C. 1100110 D. 1010011
Find the 10’s complement of 5727
A. 427 B. 428
C. 429 D. 528
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RR.

23.

3.

24,

RY.

25.

QY.

26.

26S.

217.

9.

28.

RC.

29.

R¢C.

30.

30.

572 of 10°s SLc{lRo2 A2

A. 427 B. 428
C. 429 D. 528
Find the 8’s complement of 356?
A 422 B. 421
C. 522 D. 521
356 of 8’s Sl No2 N2
A 422 B. 421
C. 522 D. 521
An encoder converts .
A. coded information into B. HIGHsto LOWs
noncoded form
C. noncoded information into D. LOWsto HIGHSs
coded form

UoHlSR converts .
A R3s HIRA Ml AtsBBs Sl B sl A
C. Atslds WRA uiell sB3s s D Qs

Excess-3 code is known as

A.  Weighted code B.  Cyclic redundancy code
C.  Self-complementing code D.  Algebraic code.
Excess-3 515 A2A 9?
A aAgessls B. AALASs Asal sls
C. Acs shrudlA2lol sls D. AAXs sls
Which digital system translates coded characters into a more useful form?
A.  decoder B.  encoder
C. display D. counter
58 sled e 5135 FrseR Higll oflet GuaAdll Y 1L HeA B
A slsls? B. AatslsR
c. (Saa D. 5lGce?

A full subtracter circuit requires
A.  2input and 2 output B.  2input and 3 output
C. 3input and 3 output D. 3input and 2 output

$CL subtracter A(52 o %33 .

A 2 80ye ua 2 uBeye B. 2&aye ua 336aye
C. 3 &oiyeua 33Gaye D. 3 &aye wal2 3By
The octal numbering system:

A.  simplifies tasks B.  groups binary numbers in groups of 4
C. savestime D. simplifies tasks and saves time
AUs2d dlolR Qe Aea.
A.  simplifies tasks B.  groups binary numbers in groups of 4
C. savestime D. simplifies tasks and saves time
Convert decimal to binary: (35)10
A. 100010 B. 100000
C. 100011 D. 100001
SRUA dleR (35)100] cll2Aat3] UL 3ULAR 53
A. 100010 B. 100000
C. 100011 D. 100001
Identify the type of gate below from the equation Y=AB.
A.  AND Gate B. OR Gate
C. NOR Gate D. NAND Gate

L B85A0 SUL N2 of B A 58l: Y=AB.
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31.

34.

32.

3R.

33.

33.

34.

3%.

35.

34.

36.

36.

37.

39.

38.

3¢.

39.

A WSOl B. ARk
C. okl D. o€l
TTL operates from a
A.  9-volt supply B.  3-volt supply
C.  5-volt supply D.  12-volt supply
TTL oll QUL AR 32cl B?
A.  9-volt supply B.  3-volt supply
C.  5-volt supply D. 12-volt supply
Which code is a weighted code.
A, 5111 B.  Excess-3
C.  Shift counter D. Gray
aAges sls sl 8?2
A. 5111 B. AUSUAU-3
C. [Rse slBoe? D. 3
The binary number for hexadecimal number 50DC is .
A. 0101 0000 0011 0011 B. 0101 0000 1101 1100
C. 0101 00001100 0011 D. 0101 0000 1101 0011
356131 ololR 50DC of et ool UL 3UidR 53U
A. 0101 0000 0011 0011 B. 0101 0000 1101 1100
C. 0101 00001100 0011 D. 0101 0000 1101 0011
Which of the examples below expresses the distributive law?
A. (A+B)+C=A+(B+C) B. A+(B+C)=AB+AC
C. AB+C)=AB+AC D. A(BC)=(AB)+C
Distributive law of o{lAetimiell 53] Gele0L £2lcll asta?
A (A+B)+C=A+(B+C) B. A+(B+C)=AB+AC
C. AB+C)=AB+AC D. A(BC)=(AB)+C
Which most commonly system used for representing signed binary numbers?
A. 1’scompliment B. 2’scompliment
C. 9’scompliment D. 10’s compliment
WSt 3] olo1RA 2% sl M2 GUAHL ULl ALHLo Il B ReH AattHi i ?
A Issidlie B. 2’sslncllioe
C. 9ssiidliee D. 10’s slnclldoe
Logic states can only be___or O.
A 2 B. 3
C. 1 D. O
AW state Hl only _vhe 0.
A 2 B. 3
C. 1 D. O

The gates required to build an half adder are
A. Four NAND gate
C. EX-OR gate and OR gate

8L% WS olotlall HI2 sl A ofl %32 ué
A.  Four oS a2

ow

Hexadecimal numbers are a mixture of

A.  Binary and decimal number B.  Letter and decimal digits

C. Binary and octal number D. Octal and decimal number
3513 {11 iR Aof | B.

A A3l U SYHA LR B. @2R val SAHA slye

C. Glel3l wal s oloR D. A ual SAHA oleR

Which of the following is minimum error code?

EX-OR gate and NOR gate
EX-OR gate and AND gate

B. AsU-R J2 Wal ol de
C. UsU-R e Wal AR e D. sU-WR 2 Wal WS A2
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3¢.

40.

¥0.

41.

¥q.

42.

¥R.

43.

¥3.

44,

¥¥.

45,

¥Y.

46.

¥S.

A. Octal code B. Gray code

C. Binary code D. Excess 3 code

ol Aol Higll 09 1L NS ARR 8ls Ful sl B?

A Alsed sls B. 3 3s

C. wastdl sls D Adgdt-38ls

The Boolean expression for a 3-input AND gate is .

A. X=ABC B. X=A+B+C

C. X=AB D. X=AB+C
3-8elye oS A2 of o(Aalel WsUYAal .

A. X=ABC B. X=A+B+C

C. X=AB D. X=AB+C

What is the decimal value of 27 ?

A. 05 B. 0.25

C. 0.05 D. 0.1

271 ofl 3 UA Sl 585 B2

A. 05 B. 0.25

C. 0.05 D. 0.1

How many inputs must a full-adder have?

A 4 B. 2

C. 5 D. 3

SELASR ML B2l Sty slau?

A 4 B. 2

C. 5 D. 3

The output of an exclusive-OR gate is HIGH if :

A. the inputs are unequal B. allinputs are HIGH
C. all inputs are LOW D. none of the above
A AR 2ol WB2Y2 AR slEF slaA_ .

A galye UMl 8l B i Setye 618 8lal
C. il Setye A 8l D umigl Asuwl 8l
A (BCD) decoder will have how many rows in its truth table?

A 3 B. 10

C. 9 D. 8

BCD $18lsR otl gu2olct Hi 32ell rows 8lat 87

A 3 B. 10

C. 9 D. 8

Which gate is best used as a basic comparator?

A. NOR B. OR

C. AND D. Exclusive-OR
Als 510222 IR 520 A2 Qe 82

A aR SEENE

C. A D Asa-ilR

A Karnaugh map is a systematic way of reducing which type of expression?
A.  product-of-sums B. exclusive NOR

C. sum-of-products D. those with overbars
k-AU % sell YsRoll Wsu YU dalscll As cAdRAd Id 8?2
A.  product-of-sums B. exclusive NOR

C. sum-of-products D. those with overbars
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47.

¥9.

48.

¥C.

49,

¥C.

50.

Yo.

51.

ua.

52.

uR.

53.

us3.

54,

Which of the following is not a basic Boolean operation?

A. OR B. NOT

C. FOR D. AND

o(lAauiedll 5185 As Als of(Aatot BUY Ut ot

A AR B olle

C. a-‘, D.  Qos

What is the Boolean expression for a four-input OR gate?

AL Y=A+B+C+D B. Y=A-B-C:-D
C. Y=A$B$CS$D D. Y=A-B-C-D
4-8oty2 AR A2 o of(A2et AsUYAat 9 B?

AL Y=A+B+C+D B. Y=A-B-C:-D
C. Y=A$B$CS$D D. Y=A-B-C-D
A 2-input NOR gate is equivalent to a .

A. negative-OR gate B. negative-NAND gate
C. negative-AND gate D. none of the above
2-8o1ye ollR & UHlal .

A dla-lR A B, addla- alos A2

C. Adda-Res e D Guz olt Asunl o1l
How many outputs are on a BCD decoder?

A 4 B. 16

C. 8 D. 10

BCD $l5ls2 1L ¥ectl »uGaye &lal.

A 4 B. 16

C. 8 D. 10

The base of the hexadecimal system is:

A. eight B. sixteen

C. ten D. two

g5 311t AlreH oll UR &:

A s B. Aa

C. eu D. aQ

In positive logic, :

A. aHIGH=1alLOW= B. aLOW=1aHIGH=0
C. only HIGHs are present D. only LOWs are present
Woilal AlX)s HL, .

A slg=1,A =0 B. Q-=188=0

C auyele Do iy A

A decoder converts

A. noncoded information into coded B. coded information into noncoded form

form
C. HIGHs to LOWs D. LOWsto HIGHSs

glng? converts

A Aot slds HRA Hidll 83s 1 B 8135 Wl Higll Aetslds fn

C. asdla D. Qe
What kind of logic device or circuit is used to store information?
A. Counter B.  Register

C. Inverter D. Buffer



uy.

55.

uy,

56.

us.

S7.

Y.

58.

uc.

59.

ue.

60.

SO.

61.

Sq.

B Al 2016 sl HI2 58 As Slalld ¥ UlFe Gualotl Al 82

A 5Go2R B. a2

C. golare? D wge

A half-adder does not have

A. carryin B. carryout

C. two inputs D. all of the above

ol A WA o, .

A 34 8t B. 3dlwGe

C. Adgaye D Guz ol il

One example of the use of an S-R flip-flop is as a:

A.  racer B.  binary storage register
C. astable oscillator D. transition pulse generator
S-R sellu-sEAlu ol Guallol ML Aclle] As GELSRNL:

A 2R B oyatetdl 2ioLs 229e?
C uRaa wUrlAe? D alorllatst uct olReR
Which of the following expressions is in the product-of-sums form?
A. (A+B)(C+D) B. (AB)(CD)

C. AB(CD) D. AB+CD

o(lAotl Higll 52 AsUY A YIs52 g AH SH o] B

A. (A+B)(C+D) B. (AB)(CD)

C. AB(CD) D. AB+CD

The 2’s complements of the binary number is 1001 1110.

A. 01100110 B. 01100010

C. 01100001 D. 01100001

wl2Aot 3] sl 1001 1110 of 2°s SUUclRoe 5L

A. 01100110 B. 01100010

C. 01100001 D. 01100001
Hexadecimal number F is equal to octal number

A 15 B. 16

cC. 17 D. 18

&5SAHA ololR F AMlot AU ololR UL,

A 15 B. 16

cC. 17 D. 18

Which of these are universal gates?

A. Only NOR B. Only NAND

C. Both NOR and NAND D. NOT,OR,AND
UUA YA ade e 520 B?

A g5 ollR B g5l dos

C. i oAk val Aos D ole, iR, Aos

An inverter is also called which gate?

A.  NOT B. OR

C. AND D. NAND

gL 2 BolalR2R s&cll &

A ae B 2R

C. "a.c's D. ac's
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62.

SR.

63.

S3.

64.

S¥.

65.

SU.

66.

SS.

67.

S9.

68.

SC.

69.

Sc.

What are the two types of basic adder circuits?

A. 1’s complement and 2’s B. half adder and parallel adder
complement

C.  Asynchronous and synchronous  D.  half adder and full adder

Als As2 AUB2ell A Ysi sl B2

A s nellRloe Ut 2% B slg As2 Al Wetet As?
se{lRoe

C. wRSAU ua RISl D glg Ws? AR g AR

Convert the octal number (3764.670) to hexadecimal.

A. T7F4.DCO B. 7F4.DC1

C. T7F4.DA0 D. 8F4.DCO

WSS oAt (3764.670) Al 3513 A1HA HL 3UIR 52

A. T7F4.DCO B. 7F4.DC1

C. T7F4.DA0 D. 8F4.DCO

Convert binary number (100101) in to gray code.

A. 100101 B. 011010

C. 100110 D. 110111

oll2dot3] olo1R (100101) & A 51S HL 3UidR 83

A. 100101 B. 011010

C. 100110 D. 110111

Numbers are stored and transmitted inside a computer in

A. Binary form B.  ASCII code form

C. Decimal form D.  Alphanumeric form

5LRJ2R ofl UER olo1R ol U2Ye Ul HISA Ul SIH ML Sl2L

A sl B Asci 8ls §ln

C. 3l 8 D. ueslexynRs Sl

How many bits are in an ASCII character?

A. 16 B. 8

cC. 7 D. 4

ASCII 3?52 Ul decll oflex 8l 82

A. 16 B. 8

cC. 7 D. 4

Parallel adders are

A. Combinational logic circuits B.  Sequential logic circuits

C. Both (a) and (b) D.  None of these

WA ASR:

A Suollueld Als UEe B, flsasllact dws uEe

C. dial (a) A (b) D Asug «tél

How many inputs are required for a 1-of-16 decoder?

A 2 B. 4

C. 8 D. 16

1l 16 S151sR ML %33 Satye Sl sl &2

A 2 B. 4

C. 8 D. 16

A multiplexer is also called

A. Coder B.  Decoder

C.  Multivibrator D. data selector

HENAAR Sla sdall,
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A glsR B. 4812

C udlawde? D. lRAse:

Which of the following unit will choose to transform decimal number to binary code?
70. A. Encoder B.  Decoder

C. Multiplexer D. Demultiplexer

(LAt il 53] Ylle 3{IHA ololR A ctauA] SlsHi 2l sl 52 B2
90. A AdHls B.  dl51s?

C.  udlhaar D Juclh@ear

*hkkkhhkkkhhkkkihkkikkik
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